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Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The focus of Scientific method is on -

IS Ugid 9% 99 odl © ¢
Options:
Analytical research

| eI T

Objective research

EJWWJ

Clinical research

5 % SUANAD T

Social research

4 % SATATSTHEIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Theory of Syllogism is related with

~

fIgTdIg & g geaEd 8

Options:
Inductive method

| % ST fafe

Deductive method

o [T fafer

Observation method

5 % TAET fafe

Linear method
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Correct Marks: 3 Wrong Marks: 1

Cuestion Lakel : Multiple Choice Guestion

There is no difference between two situations, groups, outcomes, or the
prevalence of a condition or phenomenon. This is called a :

a1 fRerfadl, ¥qgi, gRUET a1 ger &1 @ded) § dls Jd¥ 721 &1 39 $ad 2

Options:
Null hypothesis
‘L‘JJ_TI'J Ul dh A1

1.9

Alternative hypothesis
o % ddicdd TRBI

Hypothesis of association
o % ATETd B ARH

Logical Hypothesis

dTfehes TR Tl
4 ®
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

When a teacher's assessment of the performance of a student in one subject may
influence his/her rating of that student's performance in another, this type of
effect is known as the :

wia {6l B &1 [ Ua favg § Srd-FAwres @ gedie @ u9d 3 vl w
Options:

Elevation effect

| % oY UHIE

Halo effect
> " e EilE

Hollow effect
3 % QNG gHG

Interaction effect

4, % SRS G
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Assigning numerals or other symbols to the categories or response is called :
uT fhaT (STR) SferdT @Rl (W) B S A Wl A oW @1 ufhar &1

e

HEd B 7

Options:
Editing
1w TG

Coding
5 @ BC qF (PIIST)

Transcription

5 % HICTCTdIEHeoT

Tabulation
4 % SRVITIE
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following iz a method that is commonly used in qualitative
research ?

=1 5 9 fra ugld &1 A UTeAs 9 H 9T 8l 8 v

Options:
Survey

HJEToT

1 %

Structured observation

o w GNAd AT

Ethnography

5 199 RS (=@ S aiE)

Self-completion questionnaire

4 % ORI FEAEA
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

A technique of building up a list or a sample of a special population by using an
initial set of members as informants is called -

WRMBTH TGl BT Fa-reral & &9 H od §¢ ol 991 Bl gl a1 fakme s
@1 AT AT Pl © :

Options:
Quota sampling

| % PICT fTe

Convenience sampling

o w QIETTT® AT

Snow ball sampling

3 « E1 dfd wfdea

Plll'P Os1ve sainp ll'l'Lg

4 % AGaYd i
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Selecting sample units in just a "hit and miss” fashion is called :

ANT Ud gDl (hit & miss) Tgid d THAT G- T Hed €

Options:
Convenience or accidental sampling

| o QEETTE Al itic-ﬂ PIGEEE

Purp ozlve Eampling

o % WAIge¥d HiHa

Stratified sampling

o x NPT AR

Prupn:lrtinﬂate samp ]j_ng
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ouestion Label : Multiple Choice Question

Population value is called :

TG oI Headl §

Options:
Statistic

1 33 \I:l . :.._": = |-.|'-.|lL ;:l

Parameter

5 o OXHEICY (dJrae)

Variable

3.3354_'{

Core value

4 x T A
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Cuestion Label - Multiple Choice Cuestion

Which is the first step in Execution of Research Protocol ?

ATHY WETHTd & fhar=a- § usell $HeH Bl ¢

Options:
Background Literature Survey

% 1 YA Afecd e

Formulating Objectives

Lt h
o % 9G¥ ddix dxHl

Conceptualizing the Problem
3 o AR @] TR i

Selection of Sample

4% AT DT A
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Cuestion Label ; Multiple Choice Question
Which one of the following is Non Probability type of sampling ?
=1 5 9§ BE—a1 AU /IR SaE- arel T 99E @ Ay g v

Options:

Simple random

| % ¥ AGo®

Stratified
e

Multi stage

3. % :‘.]g'\_:‘_ é ;.:l

Snow ball

b
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Cuestion Label - Multiple Choice Cuestion

Which is the principle of ethics in research which requires an Equal distribution
of Burden & Benefit ?

O H AR & e Mg 4 9131 Ud Brae @1 dednl axia) &l 2ldl § 7

Options:
Beneficence

g ad (SUHR)

Respect for Rights
5 % AIBRT & AU aex

Justice

2 o Al

Confidentiality

4_%Tr|?ﬁ'~ﬂ—rﬂ
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Juestion Label - Multiple Choice GQuestion



The use of Someone's idea/work as one's own without properly acknowledging
is termed as -

fopedll a1 aaferd & 99N 41 &1 &1 9961 SiEd SHEIfed & 69T 30 99 3§ 9geT
FV D BEA B

Options:
Citation
1. ® o
Acknowledgement
= -|- -
o ®
Reference
3 % HoH
Plagiarism
\{ '_. T A Y
4 Hllalcddy %]
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Juestion Label - Multiple CThoice Cuestion

Rejection of Null Hypothesis eventhough it is true is known as

g B @ 918 W I URGIHl BT AP DAl I Bl & 7

Options:
Type I Error

1_JE@I§I?:

Type Il Error
5 % C \{E - IIE]%L

Sampling Error

5 w Jaaad Ffe

Non-sampling Error

4 %
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ouestion Label : Multiple Choice Question

Correlation between two variables is best viewed in :

T gfga=eial & 49 98 Hasdl 999 = dNie o o9l o 9adl 8

Options:
Scatter plot
. heY e

Bar Graph

o % IR @D

Pie Diagram

5 % U¥ 3RY

Histogram

4 % |F.'EE_\L __.Iu ]:l
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The trend of events along with passage of time can be shown by :

. - *, %, P %, Fat o .
HEAI Bl UgRT & 997 & 91 fdas g™ Ueha f6&ar & dadr g 2

Options:
Bar Graph

| % CICEECC |GG

Line Diagram

o o Y fo

Pie Chart
5 x OIS =T

Scatter plot

4 w® qf}\-'f_.q '-_(’i E_.
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Cuestion Label : Multiple Choice Question



Which one is not a threat of internal validity ?
faeiferiag % 9 F Aidive dgdT & (6T Wav T8 8 7
Options:

Selection bias

g % =T qARTE

Maturation
b % EIECEEG]
Mortality
Aefar (\fefafe)

T R

Artificiality

4.&"(3r'“
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

The investigator wants to study the association between smoking and lung
cancer. The statistical test used in that situation is :

FI9D GHUM Ud Bhe & DAy bl WEGd eI DAl el § | FH Ay H
BHIF-H WIRZH TR0 HT SRHATA BT 7

Options:
Chi-square test
| o PE-FFER

t-test

ANOVA test
3 % Q v |\ '—J '-__.:',F

Repeated measures ANOVA test
4 % RUCS #OR THET T
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uestion Label - Multiple Choice Cuestion



Questions that have tew fixed number of options given as answer are called :

a1 e foH SR @ w0 | §p Fuifa feer By 21 2 9% $ar o 2 -

Options:
Open en ded questions

I R:CAGMEIS IS

Unstructured queetil:mz

> % STERTH ¥

Structured ques tions

All of the three
4 % O F Ty
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

All of the following are advantages of longitudinal designs over cross-sectional
designs except :

STH H -9 AJas Ufdded &1 AT Uidded & HUR BIael 787 & 2
Options:

Detecting change
1 % qiRac T Tl A

Accuracy

2 ® \? liiill

Large amount of data collection
5 % dS1 A H SIET HHhe

Representative eamplmg

4 TR T
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uestion Label - Multiple Choice Cuestion



Which of the following is true of a research report ?
e § 9 oF o g RO & g § G © 7
Options:
An ideal is to include every detail about the research as fully as possible.
U Y B w0 H [SqE1 W B G FHUM b aR J BX fdaxur @ e
| @ P B

A research report presents the stages of the research accuratelv down to the
last detail and in the order in which they occurred.

Ueh e RO o & =Rl @1 S fdeRer 9% 3R 99 hH H URd Bl ©
o w [oreH d =fed gy o

A research report presents the stages of the research accurately down to the

last detail and in the order in which they occurred.

U g ROE 9" & =Rl Bl Afaq v a9 AR 99 HH9 H U @xdl ©
ot 3 wfed gu 4

A research report gives every last detail of the major and critical aspects of
the research process.

U Ty RUE S uibar & 9@ R Hewaqul Teciall @ BN Sfad faewer
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Formulation of hypothesis enhances ...........__. in the study.

Options:

Central tendency

1.¢ﬁmu‘cﬁ[

Subjectivity

o % ST

Reliability
3 % ERERRIRE)

Usability
4 % SHAETR
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The standard error of the estimate is a type of measure of :

FTAM B HFS I Th UPR DI AMY 2

Options:
Central tendency

T Tt

Accuracy

y
A

2.%'\.

Signiticance

5 % Hrelhar

Standard deviation
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Estimates of precision are possible with which kind of samples ?
i —_

[ U & T 9 Gl &1 A 649G & 7

Options:
Non probability
| w ST

Probability
= \.i-"{'? A f;.-":-:l"t.
Quota

3 ® Wi

Judgement

4 % 0
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The term "Phenomenology" is associated with the process of :
L Oy i o P e =
hlHAlAAl dleg [dhHahl Ulchd] +H ‘**j.E| B Fs

Options:
Probability sampling
| w Al afaEa

Correlational study
o w TEHaHl eI

Analysis of variance

Qualitative Research

4_¢‘IFI'IT_—I?E’9'I'F'J
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uestion Label - Multiple Choice Cuestion

The scale which is having absolute zero called as :

AT T EH ol I BT € del ol @
Options:

Ratio Scale

1Ja§—|?—m=|T

Interval or Numeric Scale
, w SO AT HEAEE TA

Nominal Scale
5 % Wioldd UAH

Ordinal Scale
HHYAD UHH]
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ouestion Label : Multiple Choice Question

When would you write an abstract ?

AT Udh IR (Yedcde) &4 forai ?
Options:
Once you are aware of the results

, x U IR WG 39 AR H SaTd B oI &

Atter the introduction and method sections are completed

o x UNT UG fafer @vs gl B & d1g

Before the introduction and after the title

3 B '5| aT:lt.:l :,‘r:l- @ R’H E-lilqr(}:.l EF_,I 3[]? ﬁ

After the main body of the report has been drafted

4 ROE & g% 1 1 960 GaR 89 & 918
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uestion Label - Multiple Choice Cuestion

As per Central Government, multipurpose socio-economic surveys are mainly
conducted by :

Hm WNER @ ATUR dg9qediy AHEuE-ARE Fagu g ®U U A By
Td E

Options:
Central Statistical Organisation

lﬁaﬁﬁwﬁ?ﬂﬂ‘mw

Indian Statistical Organisation

o % ANGR WRAHT TS

National Informatics Centre

5 % %A G fa9H &=

National Sample Survey Organisation

4 &% ﬁ'q PIGERE H{TETUT R
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Cuestion Label : Multiple Choice Question



What is Bibliometry ?
Tyl (Rfeeamg!) @& 2 7

Options:
Function of Library Network

| % TGP HCam BT By

Information Management Service

5 s A HEET @l

Information Management Tool

3 ST TSSO

Library Service

4 % DI Hal
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Juestion Label - Multiple Choice Cuestion

Information sources are divided mainly into which categories ?
T A BT w9 b v | fawrtord fean e 2 7

Options:

Primary and E.reccmdar}'

| % WS AR AEads

Reference and information sources

2 w {."1 ; "\qullq- {Ll"\sl I Exk

Books and periodicals

2 % J&ich Ud ATdfern

Do Cllll'll':"l'LtElI'}' and non-documen JIIu:'lI'ji_r’
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Juestion Label - Multiple CThoice Cuestion

Which of the following cannot be determined by Graphic method ?

=1 8 9 g g = afg g 921 ar o1 9&ar g 7




Options:
Mean

]
1.#‘%

Median

Mode
. x 95

Quartile

4 % TIID
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following is not a test of reliability ?
fateriag ¥ 9 SE-91 [AvaE@=aar @ @ &1 Uh UhN J8f & 7

Options:
Test-retest

% UNIETUT-T: TRIEqoT

Split-half
o % ST foifora fomam gam

Contents

2 [CERIEERS|

Internal c|:|115i5tency

4 % HTARE e
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Cuestion Label : Multiple Choice Question

Student's 't' distribution was discovered by :

s T fIavvT &I Wrar Tar o

Options:



Karl Pearson

T C

. Pl HAHA gIx]

Fisher

> % [PYN ENI

Laplace
= Y i E\ 1 ?—"I_“!T

Gosset
4 o T BRI
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Cuestion Label - Multiple Choice Cuestion

Which technique of analysis is most appropriate for comparing the mean when
there are more than two categories in independent variable ?
qed Bl gl B @ AU B A Teile Afde 9ugad @ wEie W@
UeRel H & 9§ HfEe 9 € 7
Options:

t'-test

CI-geieoy
1. W

Chi-square test

zt?m@ﬂﬁqﬁﬂw

ANOVA

)
114

5 ®

Z-test
Se-geIero
4 ®
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Cesticon Label ;- Multiple Choice Question



Which one of the following is an indication of the quality of a research journal ?

Frefafiad 4 4 $19-91 U 9 SiFe @1 JUiEl Bl Hebd @ 2
Options:

H-index
1 % qﬂ_\ﬁ_l'.ar

G-index
o W _"P[_?fﬂ

1 10-index

= ® mlu_—“ﬁ

Impact tactor

4.\;,??%?5!?5
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Juestion Label - Multiple Choice Cuestion

Cronbach alpha is a measure of :

HiTad 3T U HIY =

Options:
Validity

| s CET B
Reliability

o o LI BT
Sensitivity

5w SMAHAGTAICAT T
Normality

4 it T-HTHT. hl
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ouestion Label : Multiple Choice Question

The experimental study is basedon ...........__. .

ORI e .. STETNT 2 |

Options:
The manipulation of variables

lgyﬁ?ﬁﬁ?ﬁﬁ

Conceptual parameters

o w JOIR® ATEEST W

Replication of research

5 x TJHET BT HAPHA WX

Survey of literature

4 % e & AdeT W
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Juestion Label : Multiple Choice Question

Field-work based research is classified as :

EF-SETRT SJHEH DI §H YN @il fhdl a7 2
Options:
Experimental

1, % JEATTICD

Empirical

= o ;-';-:]”-“;.‘-u

Historical

. N
Biographical

4% ha L ¥ §]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A research which explores new facts through the study of the past is called :
U IR ST 3THd @ eI & gegd ¥ A0 928 & @i Bedl & 99 Hel ol 8
Options:

Historical research

1.%,?1?1?1%'@?5@‘3

Philosophical Research
> SEID AJHET

Mythological Research
3, % WU TTer

Content Analysis

, w [9T0-a%] fawersr
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ouestion Label : Multiple Choice Question

Identity the correct sequence of research steps :

FTEI UM & el IIHH DI T

Options:
Selection of topic, review of literature, data collection, interpretation of finding
| o [0 B AT, Wiie BT FAE], ST WA, T B AR

Review of literature, selection of topic, data collection, interpretation of finding
5 % e ©f FHE, 99 B =9+, ScT I, T2 & A

Selection of topic, data collection, interpretation of finding, review of literature
5 % 1999 BT T4, ST HIE, A P AR, Hiedd B FHET

Selection of topic, interpretation of finding, review of literature, data collection

o % [ DT I, FoA PB1 AR, WS DI FHIEA, ST HAB
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Question Number : 41 Question Id : 4548934919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Morphactins are :

Options:
, % Auxins

- % Natural growth regulators

- » Cytokinins

4 Synthetic growth regulators

Question Number : 42 Question Id : 4548934920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Presence of cvtokinins delays the senescence, which is called as :
Options:

. Richmond Lang effect

b % Apical dominance

- % Emerson ettect

, » Katusky effect



Question Number : 43 Question Id : 4548934921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The key intermediate compound linking glycolysis to the Kreb's cycle 1s :

Options:
. % Malicacid

- u ATP
2 Acetyl CoA

4 % Succinic acid

Question Number : 44 Question Id : 4548934922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

An E. coli stramn with lac* genotype was grown in a, LB medium (as control);
b, LB+ Lactose; ¢, LB+ Glucose and d, LB + Glucose+Lactose, and then JB-
galactosidase-enzyme level was measured. Which culture will have highest level
of p-galactosidase activity ?

Options:

, % CultureinlB

. % Culture in LB+Glucose

5 % Culture in LB+Glucose+Lactose

4 Culture in LB+Lactose

Question Number : 45 Question Id : 4548934923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Spheroplasts are :

Options:
, % Protoplasts

-  Protoplasts with some cell wall fraction



2 % Spherical bodies

. Spherosomes
4. ®

Question Number : 46 Question Id : 4548934924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of the following cation participate in charge separation via change in
oxidation-states to evolve oxygen at Oz evolving complex in chloroplasts ?
Options:

Question Number : 47 Question Id : 4548934925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Parasitic alga is:

Options:

- Spirogyra

Vaucheria

Cephaleuros
3 ¥

Fucus

Question Number : 48 Question Id : 4548934926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following has genic sex determination ?

Options:



| % Drosophila
_ Humans
o ®
Maize

, Mango

Question Number : 49 Question Id : 4548934927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

'Linkage map' is also referred as :
Options:
| % Chromosomal map

. % Physical map

2 % Restriction map

Genetic map

Question Number : 50 Question Id : 4548934928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which one is produced during cyclic photophosphorylation ?

Options:
| % ATP and NADPH:?

 ATP and O2
o

NADPH: only

3 %

ATP onlvy
4 |

Question Number : 51 Question Id : 4548934929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

DCPIP is used to demonstrate an event in plants :

Options:
Emerson effect

Hill reaction
> :

Respiration

A% Apoptosis

Question Number : 52 Question Id : 4548934930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Autoradiography technique is used to:

Options:
Find out the absorption maximum of chlorophyvll pigments

b % Study of photorespiration in plants
Establish that the oxvgen evolved during photosynthesis is by photolysis of
5 % water molecules

,  Irace the path of carbon in photosynthesis

Question Number : 53 Question Id : 4548934931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The C; oxidative photosynthetic carbon cvcle is related with :

Options:

. % Photosynthesis

b 1 < i
5 % Respiration

2 Photorespiration



L% Fermentation

Question Number : 54 Question Id : 4548934932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Earlier cellular changes during leaf senescence occur in the :

Options:

_ Mitochondria
1. %

. % Nucleus

- Chloroplast

4 % Endocrine reticulum

Question Number : 55 Question Id : 4548934933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Mushroom is rich in amino acid :
Options:
, = Threonine

. » Proline

2 Lvsine

4% Valine

Question Number : 56 Question Id : 4548934934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Blue green algae are close to which of advanced algal class ?
Options:
. % Chlorophyceae

b % Phaelophyceae



- » Xanthophyceae

4 « Rhodophyceae

Question Number : 57 Question Id : 4548934935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Climatic conditions of r-selected plants are

Options:
. % Constant and Unpredictable

. Constant and predictable
2 %

_— Variable and predictable

o Variable and Unpredictable

Question Number : 58 Question Id : 4548934936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label @ Multiple Choice Question

The major factors determining the distribution of 'biomes' are :
Options:

| % Soil and Climate

- Temperature and Precpitation

3 % Water and Climate

Soil and Water

Question Number : 59 Question Id : 4548934937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following is the most stable ecosystem ?

Options:

| % Forest



QOcean
2

2 % Desert

4 » Mountain

Question Number : 60 Question Id : 4548934938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Total energy fixed by an ecosystem is the :

Options:

| % Primary production

. » Secondary production

—_ "] ¥ ¥
3 o Gross production

4% Net production

Question Number : 61 Question Id : 4548934939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Ultraviolet radiations from sunlight lead to a reaction that produces :

Options:

. « Fluorides

-~ % Carbon monoxide

_ Sulphur dioxide

4 Ozone

Question Number : 62 Question Id : 4548934940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

In poriferans, different types of canal system are observed. Find out the correct
combination of the type of canal system with its type of animal species.



Options:
% Spongilla - Ascon type, Leucosolenia - Sycon type, Scypha - Leucon type

Leucosolenia - Ascon type, Spongilla - Sycon type, Scypha - Leucon type
o F=4 , O . . . ./

] o MFTT - L ~ o 1 = T o 1 s ~ 7
3 Leucosolenia - Ascon type, Scypha - Sycon type, Spongilla - Leucon type

-~

Y ¥ 1 - ul T > Ay > 1 = T o 1 e m
4 % —cypha - Ascon type, L ucosolenia - Sycon type, Spongilla - Leucon type

Question Number : 63 Question Id : 4548934941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following is a correct combination ?
Options:
, = Placoid scales - Labeo, Cycloid scales - Anabas, Ctenoid scales - Scoliodon

. % Placoid scales - Scoliodon, Cycloid scales - Anabas, Ctenoid scales - Labeo
2 % Placoid scales - Anabas, Cycloid scales - Labeo, Ctenoid scales - Scoliodon

4 Placoid scales - Scoliodon, Cycloid scales - Labeo, Ctenoid scales - Anabas

Question Number : 64 Question Id : 4548934942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The number of M, MN and N blood group types in a human population of 200 is
80, 80 and 40, respectively. What will be the expected number of total
homozygotes and heterozygotes in this population ?

Options:

, % 80and 120

o o 104 and 96

2 % 72 n:-Ll"l[j. 32

4 % 120 and 80

Question Number : 65 Question Id : 4548934943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Nebulin is associated with the organization of skeletal muscles, sarcomere. To
which of following structure in sarcomere, the Nebulin is complexed ?

Options:
, % Zlines

> % Thick filaments

- Thin filaments

4% M line

Question Number : 66 Question Id : 4548934944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Habituation is a learning process to form memory of which of the following
types ?

Options:
1% EplSDdlC memory

-  Procedural memory
- » Sementic memory

4, % Sensory memory

Question Number : 67 Question Id : 4548934945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Caestion

DNA sequencing by the Sanger method takes advantage of which property of
DNA synthesis to generate a sequencing ladder ?

Options:
Addition of nucleotides requires a free OH group on the 3' end of the DNA
| strand.

> DNA has free 5' phoshoryl group.



- » DNA polymerase has proofreading capabilities.

4% Nucleotides are linked by phosphodiester bond.

Question Number : 68 Question Id : 4548934946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fatty liver is caused due to a buildup of which one of the following ?

Options:

. Chvlomicrons
1. ’

, x LDL

. » VLDL

. Triacylglycerol

Question Number : 69 Question Id : 4548934947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

Within framework of the Beer-Lambert law, the molecular extinction coetficient
value will be :

Options:

. w increased with increase in the concentration of the biomolecules.

- w decreased with decrease in the concentration of the biomolecules.
2 unatfected in the conditions mentioned above.

4 w increased with the increase in the transmittance value for biomolecules.

Question Number : 70 Question Id : 4548934948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

During formation of urine, the glucose is mainly reabsorbed in the proximal
convoluted tubule by :

Options:



| % Potassium dependent secondary active transport

o  Sodium dependent secondary active transport

. » CFIR

4% Pinocytosis

Question Number : 71 Question Id : 4548934949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

At concentrations present in the diet, which of the following wvitamins is
absorbed primarily by diffusion ?

Options:
II-'rI- '
, w Vitamin C

- % Folate
5  Vitamin D

4 % Vitamin B

Question Number : 72 Question Id : 4548934950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

E. coli cells were grown in N15 medium for several generations and then shifted
to normal medium for one generation. It the DNA isolated from the culture
would be centrifuged on a CsCI equilibrium density gradient, the result will be :

Options:
a single band of double helix DNA consisting of one strand with N14 and

; « another with N15 label

single band of double helix DNA consisting of N14 and N15 in both the
- w strands

two bands contamning double helix DNA each containing both N14 and N15
= % label



two bands containing single stranded DNA one with N14 and other with

4, % N15 label

Question Number : 73 Question Id : 4548934951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

In RNA1, genes are silenced using :

Options:
[ % S8 DNA

, % dsDNA

3 & ds RNA

4% ss RNA

Question Number : 74 Question Id : 4548934952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which of the following bacteria 1s nnof a source of restriction endonuclease ?

Options:
Haemophilus influenzae
1. % -

5 % Escherichia coli

3 & Agrobacterium tumefaciens

Bacillius amyloli

Question Number : 75 Question Id : 4548934953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the given statement is correct in the context of observing DNA
separated by agarose gel electrophoresis ?

Options:

, % DNA can be seen in visible light



. % DNA canbe seen without staining in visible light

s » Ethidium bromide stained DNA can be seen in visible light

4  Ethidium bromide stained DNA can be seen under exposure to UV light

Question Number : 76 Question Id : 4548934954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

At the pH below isoelectric point (pI), the net charge on the glycine will be :

Options:

. Catiomc

5 % Anionic

2 % No charge

4 % Netcharge zero

Question Number : 77 Question Id : 4548934955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

In scientitic method, a predictive statement about observation that can be tested

scientifically is called :

Options:

| % Truth

5 % Evidence

_— Proof

. Hypothesis

Question Number : 78 Question Id : 4548934956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Which of the followmng is nof an assumption of the Hardy-Weinberg
equilibrium ?

Options:

| Mating occurs preterentially

. » Ihe size of the population is large

- % Ihereisno migration

4% There are no mutations

Question Number : 79 Question Id : 4548934957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Coconut milk contains :

Options:
, % ABA

o % Awxan

- Cytokinin

4 % Gibberellin

Question Number : 80 Question Id : 4548934958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

T- cells mature in the :
Options:

. Thymus

” % Spleen

- Lymph nodes

4 % Bone marrow



Question Number : 81 Question Id : 4548934959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In mterferon signalling, ISGF3 is :

Options:
a homodimer of Statl

. % @heterodimer of Statl and Stat2

5 % aheterodimer of Statl and Stat3

4,  aheterotrimer of Statl, Stat2 and IRF-9

Question Number : 82 Question Id : 4548934960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Increase in number of aquaporin channels in collecting ducts of kidney are
regulated by :

Options:

, » lestosterone

> % C ortisol
3 Antidiuretic hormone

4 % Prolactin

Question Number : 83 Question Id : 4548934961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Recombinant DNA may be introduced into mammalian cells by :

Options:
| % Transtormation

., » Conjugation

- « Iransfection



4 % Iranscription

Question Number : 84 Question Id : 4548934962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Cuestion
Which one of the following statements is true ?

Options:
| % The thymus controls peripheral tolerance of T-cells.

5 % Self-reactive T-cells are not found in healthy normal subjects.
Naive T-cells need more than one signal in order to become activated.

B-cell tolerance is more important than T-cell tolerance in the prevention of
4 R autc:ilnnnuu'ty'.

Question Number : 85 Question Id : 4548934963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

The microtubules attached to the kinetochore are polymers of :
Options:

w tubulin molecules

. % actin molecules

3 % 1'1'1'_'i,'DEi_l1 molecules

L% centrin molecules

Question Number : 86 Question Id : 4548934964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Mutations are :

Options:
| % caused by genetic recombination.

o heritable changes in genetic information.



3 % caused by faulty transcription of the genetic code.

usually but not always, beneficial to the development of the individuals in

L% which they occur.
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Trisomy of human chromosome 18 results in :

Options:
; % Tumersyndrome

5 % Down syndrome

3 % Patau syndrome

4 Edward syndrome

Question Number : 88 Question Id : 4548934966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Chromatids joined together by a centromere are called :

Options:

| sister chromatids

- » homologs

5 % alleles

4 % bivalents
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

All of the following events happen in prophase I of meiosis, except

Options:
1 % chromosome condensation

- % pairing of homologues



2 ® chiasma formation

4 zeg;regatiun
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Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
Plasmids are :

Options:

| Small circular DNA molecules, which are free in the cytosol.

5 % Small linear DNA molecules, which are free in the cytosol.

Small circular DNA molecules, which remain incorporated in the genomic
2 % DNA.

4, w» Largelinear RNA molecules, which are free in the cytosol.
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The length of DNA wrapped around a nucleosome core is :

Options:
| & 146 base pairs

5 % 200 base pairs
2 % 203 base pairs

« 20 to 100 base pairs
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In a karyotype, the chromosomes are ordered by :

Options:
| % size of the chromosomes



o Size of the chromosomes and position of the centromere
2. ¥

pl:lzitilzln of the centromere and lnng arm to short arm ratio

size of the chromosomes and long arm to short arm ratio
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Aneuploidy is defined as :

Options:

| any deviation from the complete chromosome complement

o % only the loss of one set of chromosomes complement

5 ® only gain of a full set chromosome complement

4 % only loss or gain of one chromosome
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

DpE‘ID‘l‘L OCCULLS 111
Options:

| % only prokarvotes

W primari_l}' in prn:ul:ar}'c:tez and in some Eulcaryc:tez i_nc]uding nematodes

5 » all prokaryotes and all eukaryotes

4% prinmri_l}' in eul:aryl:ltes. and also in many prc:l;ar“_rl:ltez

Question Number : 95 Question Id : 4548934973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Allelic heterogeneity is :

Options:



the existence of manyv different mutations, but all in the same gene, in
| unrelated people with same phenotype.

the existence of manv different mutations, but all in the different genes, in
o % unrelated people with same phenotype.

the existence of a single mutation, in different unrelated people with
2 ® different phenotype.

combined effect of many different mutations, but all in different genes, for a
4 % phenotype in an individual.

Question Number : 96 Question Id : 4548934974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Duchenne muscular dystrophyisa :

Options:
| % Y-linked disorder

o X-linked disorder

2 % Autosomal disorder

L% Mitochondrial disorder

Question Number : 97 Question Id : 4548934975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Mitochondrial genome contains 37 genes of which ?
Options:
| % 26 genes are encoded by H strand and 11 genes are encoded by L strand.

27 genes are encoded by H strand and 10 genes are encoded by L strand.

2 28 genes are encoded by H strand and 9 genes are encoded by L strand.

29 genes are encoded by H strand and 8 genes are encoded by L strand.



Question Number : 98 Question Id : 4548934976 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Nonsenze-mediated mRNA decay is :

Options:

a cellular mechanism that degrades mRNA molecules that contain a
premature termination codon (=30 nt downstream of the last EpliEE‘ junction).

a cellular mechanism that degradez mlPEMNA molecules that contain a

- premature termination codon (>50 nt upstream of the last splice junction).

a cellular mechanism that degrades mRNA molecules that contain a
premature termination codon (<50 nt downstream of the last splice junction).

a cellular mechanism that degrades mRNA molecules that contain a
premature termination codon (>50 nt upstream of the first splice junction).

Question Number : 99 Question Id : 4548934977 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In plasma membrane cholesterol :

Options:

| % has no significant role.

b % reduces its permeability-barrier properties.

makes it more deformable.

4 prevents hydrocarbon chains to come together.

Question Number : 100 Question Id : 4548934978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following is true for SCID mice ?
Options:
They carry recessive mutation on chromosome 11 responsible for deficient

| % activity of a transcription factor.



Thev carry dominant mutation on chromosome 11 responsible for deficient

> % activity of an enzyme involved in DNA repair.

They carry recessive mutation on chromosome 16 responsible for deficient
2 activity of an enzyme involved in DNA repair.

They carry recessive mutation on chromosome 16 responsible for deficient
g activity of an protein involved in cell cycle regulation.



